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111 Semester B.Com. Examination, December - 2019
(CBCS) (F+R) (2015-16 and Onwards)
COMMERCE

3.6 : Quantitative Analysis For Business Decisions-II

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written completely either in English or in Kannada.
Qyen - & / SECTION - A
29ns cIRRTEC Db WI-TIReR Lo, TY CWI-T Hdm YOI, 5x2=10

Answer any five of the following sub-questions. Each sub-question carries
2 marks.
1. (a) =A3TOWCH RT3 ?
What do you mean by Correlation ?
(b) womd "oedoRQ r=0.4, N=10 e:shz:éd ©TT RO, TRETITY, BOR&BOND.
If in a series, r=0.4 and N=10, find probable error.

(c) RIPoHT NO30R BOINE, E9A.

State the components of time series. t‘..e.' ;
d)  (Y—1)°=0 Q%0~. Surans® O‘m”r
Expand (Y —1)°=0. Ne.16. South Eles 004
(€) TIMORIRI TI%. gA®'GALORE

Define the term Regression.
(f) méoaaamuf W) MEAF QRYNE IBHDRI aéméﬁneém% EPA.
Distinguish between parameter and statistic.
(8) =g TS HOTTED ?
What are Independent events ? |
oy - » / SECTION - B
39800 CSRRTREER R E‘.J_‘Jé&ﬁt’?ﬁ YVZOA. pslts gﬁiﬁ T SO0, 3x6=18
Answer any three of the following questions. Each question carries 6 marks.
2. 391 BRUN icpletlalele ?&od:o‘a&:as‘d oplely TBROWOG FBOTVR, FOWLRCWD.

gaod 834 ) 53/98(95|81|70|80|65|79
don 3¢ R) 25(47(82|76|53|61|75(70

Obtain Spearman’s Rank Correlation from the following data :

[Price of Coffee (2)[53/98(95(81{70{80{65|79
Price of Tea (%) 25|47(82|76|53|61|75 70

P.T.O.
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3. IR Eh3 addﬁ%ﬁm_i NCTBRNT :

230 X Y
stonkte! 60 60
RPTO 20 46
X % Y ne smos

ATHOWOGF XBTHres 0.6

XDed Y & Loumoldod :Je's:aei'fcfs'emaSq=I FOE&GROWO, oo Y=30 SN,
X3 :’.3&3033:»3.1l FOTDHLROND.
You are given the following data :

Variables X Y
Mean 60 60
S.D 20 46
Co-efficient of

Correlation between 0.6

il .’pl'eéscﬁlltq,nggncssion line X on Y and also estimate X When Y=30.
SIS by 7

4. 3
Ay ny g MW
G ﬁéost‘ausgzsma TOmEROWO.
ST 20002001 {2002 [ 20032004 2005 | 2006
NITH 20 | 22 | 26 | 30 | 35 - 43
Interpolate the production for the year 2005.
Year 20002001 [2002[2003]2004 2005 (2006
Production| 20 | 22 | 26 30 | 35 - 43

5. 52930 o80h® o DSCh, TR AT BogIS
(@) wom Few (b) womd To (€) o = g
One card is drawn from standard pack of 52. What is the probability that it
is :

(a) A spade (b) A King (c) The ace of Club

6. Forpmeod TTood B03T AFNL 3R 2
What are the different types of probability sampling techniques ?
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Qgen — 4 / SECTION - C
O33R TORTR TRTR @%ﬁ@ﬁ Sclel ) =S E,"j_,éo{ﬁ TOTL, OTNEO. 3x14=42
Answer any three of the following. Each question carries 14 marks.

7. B NS OSONLOT V.F0. LWRHFNY TOOZE ATONYOT ToOF LONT AT’
BR-DLAODOEF ST BRe-OSeRIW), WoDR), D, oDIR, wz%@rmﬁ I[P 30RLACWD.

FodR (SIFNYY) 15] 16| 17 | 18 | 19| 20
DRPFNG ToHTS 400|540 | 680 | 720|800 | 600
Jenr 8 QTETIN 300] 324 | 340 | 360 | 360 | 240

Following are the results of B.Com. examination of a College. Calculate
Karl Pearson’s Co-efficient of Correlation between age and success of the

Candidates.

Age (in years) 15161 17 | 181 19 ] 20 i
No. of Candidates 400|540 | 680 | 720 | 800 | 600

appeared

No. of Candidates 300| 324 | 340 | 360 | 360 | 240

passed

8. IF InF DOITTY 20w [T TR, oI, BRODAD Tonw demaiodae; Bow®
BSoDZ, TSR 308, 2010 T L0 RoDLITT, BOWLRWD.

oSt 2001 {2002 | 2003 | 2004 | 2005 | 2006 | 2007 2008
<oooe: | 80 | 90 | 92 | 83 | 94 | 99 | 92°¢F JOO} T e ¢

Calculate trend values by the Method of Least Squares from the following
data given below :

Year 200120022003 [2004 | 2005 | 2006 | 2007 | 2008
Sales 80 | 90 | 92 | 83 | 94 | 99 | 92 | 100

Plot the value on a graph and estimate the sales for the year 2010.
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9. 2013 e 2015 3¢ IJERY Sod wg‘a&mm% Clelant 3-8

DIE 2010|2011|2012|2013(2014|2015]2016
Slanlebn)

100 | 120 | 150 - 210 E 320
(Boed)

Estimate the revenue generated for the year 2013 and 2015 from the following
table.

Year 2010|2011|2012(2013[2014[2015[2016

Revenue

100 | 120 | 150 | - 210 | - 320
(Crores)

10. 35 3YNT QW/WONLOT 50 ©OINON0S B8RD WIS WWHFNY noaﬁéodasb& SRuT
TFSOHY  FoRBRBEND.

LOTNW 20 - 30|30 -40(40 - 50|50 - 60|60 - 70
W RENY :-'3051:3as 31 42 51 35 31

From the following table find the number of students who have obtained less
than 50 marks using Newtons method.

Marks 20 - 30|30 - 40[40 - 5050 - 60]60 - 70
No. of Students| 31 42 51 35 31

11. 3$R” &ratgdoa:s 308 m:g abige; RITOOT HOBOT deaimﬂa‘o& FORSHBOND. Bodod
cagd 164 cm tac:maﬁ NS qagd aﬂa ROW WO 9

ZoWod QT 158|166 163| 165| 167|170 167| 152| 177] 181
OSA e} :163| 188 167|170| 160| 180| 170| 175|172 175
ﬁgﬁeight of é'g'foﬂp o'f'father’s and son are given below :

Height of father | 158] 166] 163[165[ 167] 170] 167] 152 177|181
Height of son 163|158| 167| 170| 160| 180[ 170[ 175| 172[ 175

Find the lines of regression and estimate the height on son when the height
of father is 164 cm.
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